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ANSWARE ALL QUESTIONS

Question 1: Identify which statement is True and which is False. (10 Marks, 1 for each)

1. ______ Scanning all historic documents is an inexpensive process to be impractical to undertake. Very costly

2. ______  Outsourcing scanning and classification allow the organization to complete scanning of paper 

document and records in a short time.

3. ______ In on-site documents and records scanning and indexing, individual within organization should 

require access to their files in the process of being scanning and indexing.   off-site  

4.  ______  Boolean search is searching for a partial term by putting asterisk (*), question mark (?), or 

Percentage sign (%). Wildcard

5. ______  Tangible  benefits  include  centralized  storage  of  information  and  records  compliance  with 

record-keeping laws and compliance with standards. Intangible

6.  ______ Color and grayscale scanning result in images that are significantly larger than standard bitonal 

images.

7. ______ Off-line storage is a library of media in storage.

8. ______ The EDMS should allow a system administrator to setup and maintain a folder structure.

9. ______ Web Application requires software to be installed on each individual PC within organizationDesktop

10. ______ Web application consume more resources in terms of memory and hard disk space than Desktop 

application. Desktop X Web Application

Question 2: List Four (4) befits of Tangible. (4 Marks, 1 for each)
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Question 3: Choose the correct answer. (10 Marks, 1 for each)

1. ___________ is a process for document scanning involves deciding which document to scan and 
which document to discard. 3

 Quality assurance  Scanning

 Preparation  Indexing

2. ___________ is used to identify and interpret marks as checkboxes. 2

 Barcodes   OMR

 OCR  None of above

3. ___________  is searching for a partial term by putting Asterisk (*), Question mark (?) or other 
sign to allow variability in case of misspelling. 2

 Boolean search   Wildcard search

 Proximity search  Fuzzy logic         

4. All of the following are intangible benefits except ___________. 3

           Encouraging team working  Improved customer services

 Saving floor space  Management of information

5. ___________  Enabling the  organization’s  staff  and allowing them to access  the organization’s 
information in an electronic format while seated at their desks in front of their PC’s. 4

           Centralized storage of information  Competitive advantage

 Management of information  None of above

6. Tow images are created for every page of the document, this can be done using ___________. 3

           ADF  Bitonal

 Duplex  Connection

7. ___________ is an application program interface that facilitates image capture from a variety of 
sources. 3

           SCSI  ADF

 TWAIN  USB

8. ___________  is  a  technology  that  allows  the  media  to  be  automatically  loaded  for  use  when 
queried. 2

           On-line storage  Near-line storage

 Far-line storage  None of above
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9. Saving costs is a/an ___________. 1

           Tangible  Intangible

 Answer 1 & 2  None of above

10. Full disaster recovery is a/an ___________. 2

           Tangible  Intangible

 Answer 1 & 2  None of above

Question 4: Describe the following Terms of indexing: (4 Marks, 2 for each)

a) Forms Processing

Forms processing describes the capturing of information from high-volume paper forms. Software is  often 
“trained” to scan a certain field and OCR/ICR reads the field and collects the data in a database, often for  
indexing. Barcodes can be used to prompt the capture software of the document type and the software refers to a 
programmed template to search the correct fields. Additionally, Optical Mark Recognition (OMR) is used to 
identify and interpret marks such as checkboxes. 

b) Automated Indexing

It means that indexing the documents during the EDMS system’s process. It can be done by OCR,  or 
Barcode.

 Question 5: Describe by example the following types of search: (8 Marks, 2 for each)

a) Proximity Searches

b) Wildcard Search 

• An example would be looking for a client named Hamad. You may type Ham* to get hits for Hamad, 
Hammad, Hamadin, and Hamoud. 

c) Boolean Search?

• A Boolean search is using operators such as AND, OR, and NOT to limit the search criteria.
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d) Fuzzy logic?

• Fuzzy logic will recognize that “Hamnad” is really “Hamad” and register “apen” for a search for the 
word “open.” 

 

Question 5: Describe the following terms: (8 Marks, 2 for each)

a) Compression

• Following capture,  the  images  are  compressed  to  reduce  file  storage  volume,  reduce  data  transmission  times,  and 
decrease the burden to the network.

• Since image files can be quite large (approximately 457 kilobytes for an 8.5 by 11 inch (i.e. A4) document scanned at  
200 DPI resolution bitonal and 1 megabyte at 300 DPI), compression is important.

• With data compression, algorithms are applied to the files enabling tremendous reductions in file size.

b) Image Quality 

• Image quality significantly affects all other aspects of the document imaging process.

• Poor quality images do not compress well, result in larger file sizes, transmit more slowly across the network, are slower  
to fax, print, or email, and just do not look good to end users.

• Proper document preparation methods and scanner maintenance are vital for generating quality images. 

• Image enhancement is another means of improving image quality.

c) Disaster Recovery

• Backup capabilities, unlike paper file storage, Backups can be stored off site or in a fireproof safe

• Data redundancy for continuity of operations

• System component redundancy for reliability

• Full system redundancy (clustered architecture) for uninterrupted operations

d) reCAPTCHA 
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Question 6: Write the full state (full name) for the given abbreviations: (4 Marks, ½ for each)

1. GUI: 3. ICR:

4. WORM: 6. PDF:

7. CMS: 9. OCR:

10. RMS: 12. ADF:

Question 8:  Draw a sketch form for proceess of submitting an incomplete application by a university 
student based on EDRM. (5 Marks)

Question 9: Describe how could tangible and intangible are interlinked. (7 Marks)

Both tangible and intangible are interlinked and feed off each other and are complimented by each other. For 
example, gains in productivity lead to saving costs as well as saving floor space, which also lead into saving 
costs. Saving costs also gives the organization a competitive advantage. Productivity gains, which are one of the 
results  of  more  efficient  business  processes,  lead  to  improved  customer  service  and  improved  customer 
satisfaction.

==================== BEST WISHES ====================
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